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QUESTION 1

Which Dell EMC VMAX3 point-in-time replication technology allows snapshots to be created without requiring a target
volume?

A. TimeFinder SnapVX
B. ProtectPoint

C. SRDF/Asynchronous
D. Open Replicator

Correct Answer: A

QUESTION 2

What is a Dell EMC recommended best practice when connecting CloudArray to a VMAX3?
A. Hosts should average at least 2,500 IOPS

B. Internal SRP should be used

C. Host I/O limits should be used

D. Host I/O limits should not be used

Correct Answer: B

QUESTION 3
What is a key difference between SRDF/Metro and SRDF/S?
A. SRDF/Metro: R1 devise is host accessible, R2 is red-only SRDF/S: R1 is host accessible, R2 is write disabled

B. SRDF/Metro: R1 and R2 devices are host accessible at the same time SRDF/S: R1 devices are host accessible, R2
devices are write disabled

C. SRDF/Metro: R2 can be larger than R1 SRDF/S R2 cannot be larger than R1
D. SRDF/Metro: Requires a third array for any witness functionality SRDF/S: Does not require a third array

Correct Answer: B

QUESTION 4

A host is currently using ports 1d4 and 4d4 in a two-engine VMAX3 and additional LUNs are required for the current
host. Current total LUN count for ports 1d4 and 4d4 are 4096 each.
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Which ports will follow best practices for increasing LUN count for the application?
A. 1d4 and 4d4
B. 1d4 and 4d5
C. 1d5 and 4d4
D. 1d5 and 4d5

Correct Answer: B

QUESTION 5

An administrator implemented SYMACLs on a VMAX3 using hardware-based Access IDs. The administrator is not able
to run SYMCLI commands against the volumes belonging to a host. The volumes were originally provisioned using the
host in which the host in which the administrator experienced issues.

What is a possible reason for this issue?

A. SYMAPI options file was manually modified with the wrong host ID

B. symacl —unique —passphrase was run using a different passphrase

C. Host is not in the eMgmt Access Group

D. Host network interface card was replaced

Correct Answer: B

Latest E20-807 Dumps E20-807 VCE Dumps E20-807 Study Guide

Latest E20-807 Dumps | E20-807 VCE Dumps | E20-807 Study Guide 3/3


https://www.geekcert.com/e20-807.html
https://www.geekcert.com/e20-807.html
https://www.geekcert.com/e20-807.html
http://www.tcpdf.org
https://www.geekcert.com/e20-807.html
https://www.geekcert.com/e20-807.html
https://www.geekcert.com/e20-807.html

